

so that the conclusion of the theorem holds, suggesting that a similar result might hold for a large class of distance functions and might be compared with the additivity of the Hausdorff-Besicovitch dimension for the cartesian product of certain sets. However, the results of this paper and [9] rely on the dimension being small enough to coincide with a relatively simple lower bound. The methods of this paper will not work for functions which do not satisfy (15) and in particular will not work for the function

$$(16) \quad \psi(q) = |q|^{-\alpha}$$

where $q \neq 0$, which is a natural generalization of the right-hand side of (5). Indeed with $\psi(q)$ given by (16) and $F(x) = |x|$, the dimension $h(W(m, n))$ of $W(m, n)$ is given by

$$h(W(m, n)) = (m-1)n + \frac{m+n}{\alpha+1}$$

when $\alpha > m/n$ [3].

I would like to thank Dr Yu Kunrui and Mr M. J. Smith for helpful conversations and the referee for drawing my attention to [7].

References

- [1] A. S. Besicovitch, *Sets of fractional dimension (IV): On rational approximation to real numbers*, J. London Math. Soc. 9 (1934), pp. 126-131.
- [2] J. D. Bovey and M. M. Dodson, *The fractional dimension of sets whose simultaneous rational approximation have errors with a small product*, Bull. London Math. Soc. 10 (1978), pp. 213-218.
- [3] — — *The Hausdorff-Besicovitch dimension of systems of linear forms*, in preparation.
- [4] J. W. S. Cassels, *An Introduction to Diophantine Approximation*, Cambridge University Press, 1957.
- [5] — *An Introduction to the Geometry of Numbers*, Springer-Verlag, 1959.
- [6] H. G. Eggleston, *Sets of fractional dimension which occur in some problems in number theory*, Proc. London Math. Soc. (2), 54 (1952), pp. 42-93.
- [7] V. Jarník, *Über die simultanen diophantischen Approximationen*, Math. Zeitschrift 33 (1931), pp. 503-543.
- [8] V. G. Sprindžuk, *Metric theory of Diophantine Approximations* (translated by R. A. Silverman), Winston 1979.
- [9] Kunrui Yu, *Hausdorff dimension and simultaneous rational approximation*, J. London Math. Soc. (2) 24 (1981), pp. 79-84.

DEPARTMENT OF MATHEMATICS
 UNIVERSITY OF YORK
 Heslington, York YO1 5DD

Received on 10. 11. 1981
 and in revised form on 18. 3. 1983

(1277)

On some generalizations of the diophantine equation

$$1^k + 2^k + \dots + x^k = y^z$$

by

B. BRINDZA (Debrecen)

1. Introduction. In [5] J. J. Schäffer proved that for fixed integers $k > 0$ and $z > 1$ the equation

$$(1) \quad 1^k + 2^k + \dots + x^k = y^z$$

has an infinite number of solutions in positive integers x and y only in the cases

$$(I) \ k = 1, z = 2; \quad (II) \ k = 3, z \in \{2, 4\}; \quad (III) \ k = 5, z = 2.$$

In all other cases the number of solutions was shown to be bounded by a constant depending only on k . In [2] and [7] K. Györy, R. Tijdeman and M. Voorhoeve have extended Schäffer's result by proving that for fixed $R(x) \in \mathbb{Z}[x]$, $0 \neq b \in \mathbb{Z}$ and fixed $k > 0$, $k \notin \{1, 3, 5\}$ the equation

$$(2) \quad 1^k + 2^k + \dots + x^k + R(x) = by^z$$

has only finitely many solutions in integers $x, y > 1, z > 1$. If $R(x) \equiv r \in \mathbb{Z}$, then their result is effective (cf. [2]).

The purpose of the present paper is to give some effective generalizations and extensions of the results of [2] and [7]. As a special case we get an effective version of the above-quoted finiteness theorem concerning the equation (2).

For brevity let us set $S_k(x) = 1^k + 2^k + \dots + x^k$, $A = \mathbb{Z}[x]$ and $\kappa = (k+1) \prod_{(p-1)|(k+1)} p$ (p prime). Let

$$F(y) = Q_n y^n + \dots + Q_1 y + Q_0 \in A[y].$$

Consider the solutions of the equation

$$(3) \quad F(S_k(x)) = by^z$$

in integers $x, y, z > 1$.

THEOREM 1. If $Q_1(-1)$ is odd and $k > 1$, then all solutions of the equation (3) in integers $x, y, z > 1$ satisfy $z < C_1$, where $C_1 = C_1(F, k, b)$ is an effectively computable constant.

THEOREM 2. If $k > 1$, $Q_i(x) \equiv q_i \in \mathbf{Z}$ ($i = 0, 1, \dots, n$) and the polynomial F has simple zeros, then all solutions of the equation (3) in integers x, y, z with $x, y > 1, z \notin \{1, 2, 3, 4, 6\}$ satisfy $\max\{x, y, z\} < C_2$, where $C_2 = C_2(F, k, b)$ is an effectively computable constant.

Our Theorem 2 is a generalization of the main result of [2]. Indeed let b, r, s and $k > 1$ be fixed rational integers, and consider the special case

$$r + s(1^k + 2^k + \dots + x^k) = by^z$$

of the equation (3). It was proved in [2] that if s is square-free, then this equation has only finitely many solutions in integers x, y, z with $x, y > 1$ and $z \notin \{1, 2, 3, 4, 6\}$ and all these can be effectively determined. Our above theorem implies this result without any assumption concerning s .

THEOREM 3. If $Q_i(x) \equiv 0 \pmod{\kappa^i}$ for $i = 2, \dots, n$; $Q_1(x) \equiv \pm 1 \pmod{4}$ and $k \notin \{1, 2, 3, 5\}$, then all solutions of the equation (3) in integers $x, y, z > 1$ satisfy $\max\{x, y, z\} < C_3$, where C_3 is an effectively computable constant depending only on F, k and b .

Let in particular $Q_n(x) = \dots = Q_2(x) \equiv 0$, and let $Q_1(x) \equiv s$, where s is an odd integer. If $k \notin \{1, 2, 3, 5\}$, then by Theorem 3 all solutions of the equation

$$s(1^k + 2^k + \dots + x^k) + Q_0(x) = by^z$$

in integers $x, y, z > 1$ satisfy $\max\{x, y, z\} < C_4$, where C_4 is an effectively computable constant depending only on $s, Q_0(x), k$ and b . This is an effective version of the above-cited main result of [7].

The ineffective character of the results of [7] is due to the application of an ineffective theorem of LeVeque [3] concerning the hyperelliptic equation. All other arguments of [7] are effective. In proving our results we shall use a recent effective version (cf. [1]) of LeVeque's theorem and some arguments of [7].

2. Auxiliary results. For $q = 0, 1, 2, \dots$, the Bernoulli polynomials $B_q(x)$ are defined by

$$\frac{ze^{zx}}{e^z - 1} = \sum_{q=0}^{\infty} \frac{B_q(x) z^q}{q!}, \quad |z| < 2\pi.$$

Their expansion around the origin is given by

$$B_q(x) = \sum_{i=0}^q \binom{q}{i} B_i x^{q-i},$$

where $B_n = B_n(0)$ ($n = 0, 1, 2, \dots$) are the Bernoulli numbers. For the following properties of Bernoulli polynomials we refer to Rademacher [4]. We have

$$(4) \quad B_{2k+1} = 0, \quad k = 1, 2, \dots,$$

$$(5) \quad B_k(x+1) = B_k(x) + kx^{k-1},$$

$$(6) \quad B'_k(x) = kB_{k-1}(x),$$

$$(7) \quad 1^k + 2^k + \dots + x^k = \frac{1}{k+1} (B_{k+1}(x+1) - B_{k+1}).$$

Further, by Staudt-Clausen theorem

$$B_{2k} = G_{2k} - \sum_{(p-1)|2k} \frac{1}{p} \quad (p \text{ prime})$$

where $G_{2k} \in \mathbf{Z}$.

LEMMA 1 (A. Schinzel and R. Tijdeman). Let $0 \neq b \in \mathbf{Z}$, and let $P(x) \in \mathbf{Z}[x]$ be a polynomial with at least two distinct zeros. Then the equation

$$P(x) = by^z$$

in integers $x, y > 1, z$ implies that $z < C$, where $C = C(P, b)$ is an effectively computable constant.

Proof. See A. Schinzel and R. Tijdeman [6].

LEMMA 2. Let $F(y) = \sum_{i=0}^n Q_i y^i$ be a non-zero element of $A[y]$. Suppose that $Q_1(0)$ is odd and $q > 2$. Then the polynomial

$$G(x) = F((1/q)(B_q(x) - B_q))$$

has at least two distinct zeros.

Proof. Supposing the contrary, we can write

$$q^n G(x) = \alpha(x - x_0)^l,$$

with some non-zero $\alpha \in \mathbf{Z}$ and some $x_0 \in \mathbf{Q}$. Put $x_0 = a/b$, where $a, b \in \mathbf{Z}$ and $(a, b) = 1$. Then

$$b^l q^n G(0) = b^l q^n Q_0(0) = \alpha(-a)^l$$

and

$$b^l q^n G(1) = b^l q^n Q_0(1) = \alpha(b-a)^l.$$

It is easy to see that

$$b^l q^n |(\alpha a^l, \alpha(b-a)^l) = \alpha.$$

By using this relation we get

$$G(x) - Q_0(x) = \frac{\alpha}{b^t q^n} (bx - a)^t - Q_0(x) \in \mathbb{Z}[x].$$

We can write

$$G(x) - Q_0(x) = l_1 x + l_2 x^2 + \dots,$$

where

$$l_1 = B_{q-1} Q_1(0) \quad \text{and} \quad l_2 = \frac{q-1}{2} B_{q-2} Q_1(0) + B_{q-1} Q_1'(0) + Q_2(0) B_{q-1}^2.$$

By the Staudt–Clausen theorem the denominators of B_1, B_{2j} ($j = 1, 2, \dots$) are even. If q is odd then $l_1 \notin \mathbb{Z}$, and if q is even then $l_2 \notin \mathbb{Z}$. This is a contradiction.

The following lemma is an effective version of a well-known theorem of LeVeque [3].

LEMMA 3. Let $G(x) \in \mathbb{Q}[x]$,

$$G(x) = a_0 x^N + \dots + a_N = a_0 \prod_{i=1}^n (x - \alpha_i)^{r_i},$$

with $a_0 \neq 0$ and $\alpha_i \neq \alpha_j$ for $i \neq j$. Let $0 \neq b \in \mathbb{Z}$, $2 \leq m \in \mathbb{Z}$ and define $t_i = m/(m, r_i)$. Suppose that $\{t_1, \dots, t_n\}$ is not a permutation of the n -tuples

- (a) $\{t, 1, \dots, 1\}$, $t \geq 1$;
- (b) $\{2, 2, 1, \dots, 1\}$.

Then all solutions $(x, y) \in \mathbb{Z}^2$ of the equation

$$G(x) = by^m$$

satisfy $\max\{|x|, |y|\} < C'$, where C' is an effectively computable constant depending only on G, b and m .

Proof. See B. Brindza [1].

LEMMA 4 (M. Voorhoeve, K. Györy and R. Tijdeman). Let $q \geq 2$, $R^*(x) \in \mathbb{Z}[x]$ and set

$$P(x) = B_q(x) - B_q + qR^*(x).$$

Then

- (i) $P(x)$ has at least three zeros of odd multiplicity, unless $q \in \{1, 2, 4, 6\}$.
- (ii) For any odd prime p , at least two zeros of $P(x)$ have multiplicities relatively prime to p .

Proof. See M. Voorhoeve, K. Györy and R. Tijdeman [7].

LEMMA 5. Let $q \geq 2$ and $Q^*(x), R^*(x) \in \mathbb{Z}[x]$, and set

$$V(x) = (B_q(x) - B_q)Q^*(x) + qR^*(x).$$

Suppose that $Q^*(x) \equiv \pm 1 \pmod{4}$. Then

(i) $V(x)$ has at least three zeros of odd multiplicity, unless $q \in \{1, 2, 3, 4, 6\}$.

(ii) For any odd prime p , at least two zeros of $V(x)$ have multiplicities relatively prime to p .

Proof. We shall follow the proof of Lemma 4 of [7]. Choose $d \in \mathbb{N}$ such that $d(B_q(x) - B_q)$ is a primitive polynomial in $\mathbb{Z}[x]$. It is easy to see (see the proof of Lemma 4 in [7]) that d is odd if and only if $q = 2^\lambda$ for some $\lambda \geq 1$. Further, if $q \neq 2^\lambda$ for any $\lambda \geq 1$, then $d \equiv 2 \pmod{4}$.

We distinguish three cases:

A. Let $q > 3$ be odd. Then $d \equiv 2 \pmod{4}$ and

$$\begin{aligned} dV(x) &= d(B_q(x) - B_q)Q^*(x) + dqR^*(x) = d(B_q(x) - B_q) \\ &\equiv x^{q-1} + \sum_{i=1}^{(q-1)/2} \binom{q}{2i} x^{q-2i} \pmod{2}. \end{aligned}$$

Hence,

$$d(V(x) + xV'(x)) \equiv qx^{q-1} + \sum_{i=1}^{(q-1)/2} \binom{q}{2i} (1+q-2i)x^{q-2i} \equiv x^{q-1} \pmod{2}.$$

Any common factor of $dV(x)$ and $dV'(x)$ must therefore be congruent to a power of $x \pmod{2}$. Since

$$dV'(0) = dqB_{q-1}Q^*(0) + dqR^{*'}(0) \equiv 1 \pmod{2}$$

we find that $dV(x)$ and $dV'(x)$ are relatively prime $\pmod{2}$. So any common divisor of $dV(x)$ and $dV'(x)$ in $\mathbb{Z}[x]$ is of the shape $2S(x)+1$. Write $dV(x) = T(x)Q(x)$, where $T(x) = \prod_i T_i^{t_i}(x) \in \mathbb{Z}[x]$ contains the multiple factors of dV and $Q \in \mathbb{Z}[x]$ contains its simple factors. Then $T(x)$ is of the shape $2R(x)+1$ with $R(x) \in \mathbb{Z}[x]$, so

$$Q(x) \equiv dV(x) \equiv x^{q-1} + \dots \pmod{2}.$$

Thus the degree of $Q(x)$ is at least $q-1$, proving case A.

In cases B and C we suppose that $Q^*(x) \equiv 1 \pmod{4}$. If $Q^*(x) \equiv -1 \pmod{4}$ then we write from first to last $-dV(x)$ instead of $dV(x)$ and however the proof is completely similar.

B. Suppose $q = 2^\lambda$ for some $\lambda \geq 1$, so d is odd. We may assume that $\lambda \geq 3$. Now $\binom{q}{2k}$ is divisible by 4 unless $2k = \frac{1}{2}q = 2^{\lambda-1}$. Similarly, $\binom{q}{2k}$ is divisible by 8 unless $2k$ is divisible by $2^{\lambda-2}$. We have therefore for some odd d' , writing $v = q/4$

$$(8) \quad dV(x) \equiv d(B_q(x) - B_q) \equiv dx^{4v} + 2x^{3v} + d'x^{2v} + 2x^v \pmod{4}.$$

Write $dV(x) = T^2(x)Q(x)$, where $T(x), Q(x) \in \mathbf{Z}[x]$ and $Q(x)$ contains each factor of odd multiplicity of $V(x)$ in $\mathbf{Z}[x]$ exactly once. Assume that $\deg Q(x) \leq 2$. Since

$$T^2(x)Q(x) \equiv x^{4v} + x^{2v} = x^{2v}(x^{2v} + 1) \pmod{2},$$

$T^2(x)$ must be divisible by $x^{2v-2} \pmod{2}$. So

$$T(x) = x^{v-1}T_1(x) + 2T_2(x),$$

$$T^2(x) = x^{2v-2}T_1^2(x) + 4T_3(x),$$

for certain $T_1, T_2, T_3 \in \mathbf{Z}[x]$. If $q > 8$, then $v > 2$ so the last identity is incompatible with (8) because of the term $2x^v$. Hence $\deg Q(x) \geq 3$, which proves (i). If $q = 8$, then $d = 3$ and

$$dV(x) \equiv 3x^8 + 2x^6 + x^4 + 2x^2 \equiv -x^2(x+1)(x-1)(x^2+1)(x^2+2) \pmod{4}.$$

All these factors – except x^2 – are simple, so $\deg Q \geq 6 > 3$ if $q = 8$, proving (i) in case B.

To prove (ii), let p be an odd prime and write $dV(x) = T^p(x)Q(x)$, where $Q, T \in \mathbf{Z}[x]$ and all the roots of multiplicity divisible by p are incorporated in $T^p(x)$. We have, writing $\mu = 2^{\lambda-1}$,

$$dV(x) = T^p(x)Q(x) \equiv x^\mu(x^\mu + 1) = x^\mu(x+1)^\mu \pmod{2}.$$

Since μ is relatively prime to p , Q has at least two different zeros, proving (ii) in case B.

C. Suppose q is even and $q \neq 2^\lambda$ for any $\lambda \geq 1$. Then $d \equiv 2 \pmod{4}$ and hence

$$(9) \quad dV(x) \equiv d(B_q(x) - B_q)$$

$$\equiv 2x^q - qx^{q-1} + \frac{1}{2}d \binom{q}{2} x^{q-2} + \dots + dB_{q-2} \binom{q}{2} x^2 \pmod{4}.$$

In order to prove part (i) we may assume that $q \geq 10$, because $q = 2, 4, 6$ are the exceptional cases and $q = 8$ is treated in Section B. Write $dV(x) = T^2(x)Q(x)$, where $T, Q \in \mathbf{Z}[x]$ and $Q(x)$ contains each factor of odd multiplicity of V exactly once. Then $\deg Q(x) \geq 3$. The assertion easily follows by repeating the corresponding part of the proof of Lemma 4. This proves part (i) of the lemma.

Consider the case (ii). Write $q = 2^\lambda r$, where $r > 1$ is odd. Then

$$\begin{aligned} dV(x) &\equiv d(B_q(x) - B_q) \equiv \sum_{k=1}^{(q-2)/2} \binom{q}{2k} x^{2k} = \sum_{i=1}^{q-1} \binom{q}{i} x^i \\ &\equiv (x+1)^q - x^q - 1 \equiv ((x+1)^r - x^r - 1)^{2^\lambda} \pmod{2}. \end{aligned}$$

Since $r > 1$ is odd, $(x+1)^r - x^r - 1$ has x and $x+1$ as simple factors $\pmod{2}$.

Thus

$$dV(x) \equiv x^{2^\lambda}(x+1)^{2^\lambda} H(x) \pmod{2},$$

where H is neither divisible by x nor by $x+1 \pmod{2}$. As in the preceding case, $V(x)$ must have two roots of multiplicity prime to p . The proof of Lemma 5 is thus complete.

LEMMA 6 (K. Györy, R. Tijdeman and M. Voorhoeve). *Each zero of $T(x) = B_q(x) - B_q$ is of multiplicity less than 3.*

Proof. If $q = 3$ then

$$2T(x) \equiv 2x^3 + x \equiv 2x(x+1)(x-1) \pmod{3},$$

showing that $T(x)$ has three simple roots. First suppose $q > 3$ is odd. Then, following the proof of Theorem 2 in [2], we have

$$d(T(x) + xT'(x)) \equiv x^{q-1} \pmod{2}.$$

Since $dT'(0) = qdB_{q-1} \equiv 1 \pmod{2}$ we find that $dT(x)$ and $dT'(x)$ are relatively prime $\pmod{2}$. So any irreducible common divisor of $dT(x)$ and $dT'(x)$ in $\mathbf{Z}[x]$ must be of shape $2S(x)+1$. Then $dT(x)$ is divisible by $(2S(x)+1)^2$ and the leading coefficient d of $dT(x)$ is divisible by the leading coefficient of $(2S(x)+1)^2$. Since $4 \nmid d$, this is impossible unless $S(x)$ is a constant. All the zeros of $T(x)$ are therefore simple. Next suppose that q is even. Since then $T'(x) = qB_{q-1}(x)$ hence each zero of $T(x)$ is multiplicity less than 3.

3. Proof of the theorems.

Proof of Theorem 1. Putting $Q_i^*(x) = Q_i(x-1)$ ($i = 0, 1, \dots, n$), we have $Q_1^*(0) = Q_1(-1)$. Let $x, y, z > 1$ be an arbitrary solution of (3) in rational integers. Then

$$F(S_k(x)) = \sum_{i=0}^n Q_i^*(x+1) \left[(B_{k+1}(x+1) - B_{k+1}) \frac{1}{k+1} \right]^i,$$

and we get an effective bound for z by applying Lemmas 1 and 2.

Proof of Theorem 2. Let y_0 be a simple zero of $F(y)$, and write

$$F(y) = q_n y^n + \dots + q_1 y + q_0 = (y - y_0) H(y),$$

where $H(y_0) \neq 0$. Put

$$\begin{aligned} M(x) &= \frac{1}{k+1} (B_{k+1}(x+1) - B_{k+1}) - y_0 = a_0 \prod_{i=1}^u (x - \alpha_i)^{\gamma_i} \\ &\quad (\gamma_i > 0, \alpha_i \neq \alpha_j \text{ if } i \neq j) \end{aligned}$$

and

$$\begin{aligned} L(x) &= H \left(\frac{1}{k+1} (B_{k+1}(x+1) - B_{k+1}) \right) = b_0 \prod_{i=1}^v (x - \beta_i)^{\delta_i} \\ &\quad (\delta_i > 0, \beta_i \neq \beta_j \text{ if } i \neq j). \end{aligned}$$

Clearly $\alpha_i \neq \beta_j$ for $i \in \{1, \dots, u\}$, $j \in \{1, \dots, v\}$. From (6) we get $M'(x) = B_k(x+1)$. So by Lemma 6 we can write $\gamma_i < 4$ for $i = 1, \dots, u$. If $k+1 > 3$ then $u \geq 2$; if $k = 2$ then

$$M'(x) = B_2(x+1) = (x+1)^2 - (x+1) + \frac{1}{8} = (x-x_1)(x-x_2) \quad (x_1 \neq x_2)$$

and again $u \geq 2$.

Let now x, y, z be an arbitrary integer solution of (3) under the assumptions of the theorem, with $x, y > 1$, $z \notin \{1, 2, 3, 4, 6\}$. Then Lemma 1 gives $z < C_0$ with an effective C_0 . Since $\gamma_i < 4$ and $z \notin \{1, 2, 3, 4, 6\}$ so $z/(z, \gamma_i) \geq 3$ for $i = 1, \dots, u$. Using Lemma 3 we have $\max\{x, y\} < C$, where C is an effectively computable constant depending only on F, k and b . This completes the proof of Theorem 2.

Proof of Theorem 3. Write $Q_i(x) = x^i K_i(x)$, where $K_i(x) \in \mathbb{Z}[x]$ for $i = 2, \dots, n$. By using the Staudt-Clausen theorem we have

$$(10) \quad (B_{k+1}(x+1) - B_{k+1}) \prod_{s=1}^{[(k+1)/2]} \prod_{\substack{(p-1)|2s, (p-1) \nmid 2j \text{ for } j < s \\ p \text{ prime}}} p \in \mathbb{Z}[x],$$

and

$$\prod_{s=1}^{[(k+1)/2]} \prod_{\substack{(p-1)|2s, (p-1) \nmid 2j \text{ for } j < s \\ p \text{ prime}}} p \mid x/(k+1).$$

From (10) we get

$$Q_i(x) \left\{ \frac{1}{k+1} (B_{k+1}(x+1) - B_{k+1}) \right\}^i = K_i(x) \left\{ \frac{x}{k+1} (B_{k+1}(x+1) - B_{k+1}) \right\}^i \in \mathbb{Z}[x]$$

for $i = 2, \dots, n$. Putting

$$U(x+1) = (k+1) F \left(\frac{1}{k+1} (B_{k+1}(x+1) - B_{k+1}) \right)$$

we have

$$U(x+1) = Q_1^*(x+1)(B_{k+1}(x+1) - B_{k+1}) + (k+1)W(x+1),$$

where $W \in \mathbb{Z}[x]$ and $Q_1^*(x) = Q_1(x-1)$, $Q_1^*(x+1) \equiv \pm 1 \pmod{4}$. By applying Lemmas 5 and 1 we see that z is bounded, i.e. $z < C_1$ with an effectively computable C_1 . Write

$$U(x) = c \prod_{i=1}^N (x-x_i)^{r_i}$$

where $c \neq 0$, $x_i \neq x_j$ if $i \neq j$ and, for a fixed z let $t_i = z/(z, r_i)$. If z is even, then by Lemma 5 at least three zeros have odd multiplicity, say r_1, r_2, r_3 are odd. Consequently, t_1, t_2 and t_3 are even. If z is odd and $p|z$ for an odd

prime p , then by Lemma 5 at least two zeros of $U(x)$ have multiplicities prime to p . We may assume that $(r_1, p) = (r_2, p) = 1$, so $p|t_1$ and $p|t_2$. Using Lemma 3 we have $\max\{x, y\} < C_2(z)$ with an effectively computable $C_2(z)$ which depend on z . Finally $z < C_1$ implies the required assertion.

Remark. In Theorem 3 it is necessary to assume that $Q_1(x) \equiv \pm 1 \pmod{4}$. Indeed, let $Q_n(x) = \dots = Q_2(x) \equiv 0$, and if $Q_1(x) \not\equiv \pm 1 \pmod{4}$, choose $d, k \in \mathbb{N}$ such that $d(B_{k+1}(x+1) - B_{k+1})$ is a primitive polynomial in $\mathbb{Z}[x]$ and $Q_1(x) = d(k+1) \not\equiv \pm 1 \pmod{4}$. If this is the case, there are infinitely many choice for $Q_0(x)$ and b such that (3) has an infinite number of solutions. We may take for example

$$Q_0(x) = x - d(B_{k+1}(x+1) - B_{k+1})$$

when the number of solutions of the corresponding equation

$$F(S_k(x)) = x = by^z$$

is obviously infinite.

I would like to thank K. Györy for his valuable remarks.

References

- [1] B. Brindza, *On S-integral solutions of the equation $f(x) = y^m$* , Acta Math. Acad. Sci. Hungar., to appear.
- [2] K. Györy, R. Tijdeman and M. Voorhoeve, *On the equation $1^k + 2^k + \dots + x^k = y^2$* , Acta Arith. 37 (1980), pp. 234-240.
- [3] W. J. LeVeque, *On the equation $y^m = f(x)$* , ibid. 9 (1964), pp. 209-219.
- [4] H. Rademacher, *Topics in Analytic Number Theory*, Springer-Verlag, Berlin 1973.
- [5] J. J. Schäffer, *The equation $1^p + 2^p + \dots + n^p = m^q$* , Acta Math. 95 (1956), pp. 155-159.
- [6] A. Schinzel and R. Tijdeman, *On the equation $y^m = P(x)$* , Acta Arith. 31 (1976), pp. 199-204.
- [7] M. Voorhoeve, K. Györy, R. Tijdeman, *On the Diophantine equation $1^k + 2^k + \dots + x^k + R(x) = y^2$* , Acta Math. 143 (1979), pp. 1-8.

MATHEMATICAL INSTITUTE
KOSSUTH LAJOS UNIVERSITY
4010 Debrecen PF. 12, Hungary

Received on 8. 11. 1982
and in revised form on 7. 3. 1983

(1326)